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9 100kN/m%#BZ % - = = = - | 3mEFBZD = = - 100kN/ m#%#8 % % - = = -|3mEFEBZ D = = - - -
zhLst 1.00] 0.00 ~ 4.63 57.67| RS | 0.00 ~ 4.63| 1.90 10.16 Zh st 1.00| 5.00 ~ b6.10 57.67| EhLS | 6,00 ~ 5.10| 1.90 10.16
10 100kN/m##82% | 1.00] 0.00 ~ 1.24 118.81|3m%Z#BZ % = = -| 100kN/mM%E#Bz5 | 1.00| 10.67 ~ 14.53 118 81 |3m%Ei#BZ 5 = = - - -
zhLst 1.00| 1.24 ~ 9.03 100.00| =5 | 0.00 ~ 9.03| 227 12.16 zhnsn 1.00| 6.00 ~ 10.67 100.00| =ns | 5.00 ~ 14.563| 2.27 12.16
11 100kN/m##82% | 1.00]|0.00 ~ 0.30 104.48|3m%#BZ % = -| 100kN/mM%E# 825 | 1.00| 11.453 ~ 1230 104.48|3m%E#BZ B = = - - -
zhLst 1.00] 0.30 ~ 8.09 100.00| =5t | 0.00 ~ 809 2.41 12.91 Zh st 1.00| 6.00 ~ 11.43 100.00| =ns | 5.00 ~ 12.30| 2.41 12.91
12 100kN/m%#BZ % - = = = -|3mEFBZD = 100kN/ Mm% 8% % = = -|3mEFEBZ D = = - - -
zhLst 1.00]1 0.00 ~ 7.76 99.68| =hLS | 0.00 ~ 7.76| 2.60 13.89 Zh Lt 1.00| 6.00 ~ 1340 99.68| EhLS | 6,00 ~ 13.40| 2.60 13.89
13 100kN/m##82% | 1.00]| 0.00 ~ 0.40 105.85|3m%E#BAD = -| 100kN/mM%# x5 | 1.00| 10.65 ~ 11.70 105.85 | 3m%E#BZ D = = - - -
zhLst 1.00]1 0.40 ~ 818 100.00| =hlst | 0.00 ~ 818 226 12.09 zh Lt 1.00| 6.00 ~ 10.63 100.00| =ns | 5.00 ~ 11.70| 2.26 12.09
14 100kN/M#%#82 % - -~ - -|3mEFBZD ~ -| 100kN/mM%E# 25 - -~ -|3m%EiBR D -~ - - -
st 1.001 0.00 ~ 7.29 92.80| =hLS | 0.00 ~ 7.29| 2.02 10.81 st 1.00| 6.00 ~ 10.80 92.80| #nLst | 6,00 ~ 10.80] 2.02 10.81
15 100kN/ M#%#82 % - ~ - -|3mEFBZD ~ 100kN/ m#%#8Z% % ~ -|3mZEiBR D -~ - -
zhLst 1.00]1 0.00 ~ 6.59 8311 =hs | 0.00 ~ 6.69| 2.00 10.72 NSt 1.00| 6.00 ~ 9.00 8311 #hs | 6,00 ~ 9.00| 2.00 10.72
16 100kN/M%#2Z % - ~ - -|3mEFEZD ~ -| 100kN/m%E#Z5 ~ -|13mEFEZ S -~ - - -
ThList 1.00]1 0.00 ~ 6.72 84.85| =ns | 0.00 ~ 6.72| 1.94 10.40 Fhst 1.00| 6.00 ~ 8.80 84.85| #=hLs | 6,00 ~ 880| 1.94 10.40
17 100kN/MZ#2Z % - ~ - S| 3mEEZD ~ -| 100kN/mM%E# 25 ~ -|13mFEZ S -~ - - -
Thsn - ~ - ZhLst ~ ZnLst ~ ZhLs -~ - -
18 100kN/mM%#825 | 1.00| 0.00 ~ 0.40 105.85|3m%E#EZ % = 100kN/m%#825 | 1.00| 10.65 ~ 11.70 105.85| 3m%#BA B = @ - - -
ZhLst 1.00] 0.40 ~ 818 100.001 =ns5t | 0.00 ~ 818 226 12.09 Zh st 1.00| 6.00 ~ 10.63 100.00] =ns | 6.00 ~ 11.70| 2.26 12.09
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBAD ~
zhsn ~ ZhLst ~ ZnLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhsn ~ ZhLst ~ znLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thsn ~ ZhLst ~ ZznLst ~ Zhust ~
100kN/M%#2Z % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEBAD ~
Zzhsn ~ ZhLst ~ ZnLst ~ Zzhus ~
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7 100kN/ M#%#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mFBZ D - ~ — — —
zhLst — -~ = — | FhLst -~ = — — LSt — - ~ — —| Enst - ~ — — —
2 100kN/ M#%#82 % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m%i#BZ 5% — - ~ — —|3mZiBZ D - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.38 80.52 | #nst | 000 ~ 6358| 1.75 9.37 ZnLst 1.00 | .00 ~ 7.50 80.32 | #hs | 500 ~ 7.60| 1.76 9.37
3 100kN/m%Z#Bz25 | 1.00 | 000 ~ 102| 11536 |3m&EBzZB| — ~ — — — | 100kN/mi%#825 | .00 | 1058 ~ 1380 115.36 |3mE#z5 - ~ — — —
s 1.00 | .02 ~ 881 100.00 | =nhst | 000 ~ 881 | 214 11.45 Thlst 1.00 | .00 ~ 1058 100.00 | =hLSt | 6.00 ~ 1380 2.14 11.45
4 100kN/m%Z#Bz25 | 1.00 | 000 ~ 062 109.17 |3m&EBzZB| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 1053 ~ 1230 109.17 |3mE#BZS -~ — — —
s 1.00 | 062 ~ 840 100.00 | =04t | 000 ~ 840| 1.76 941 st 1.00 | .00 ~ 1053 100.00 | =nLst | 6.00 ~ 1230 1.76 9.41
5 100kN/m%Z#Bz25 | 1.00 | 000 ~ 042 10618 |3m&EBZB| — ~ — — — | 100kN/m%#825% | 1.00 | 10564 ~ 11.70| 106.18 |3m%EiBZ S - ~ — — —
ZhLst 1.00 | 042 ~ 820 100.00 | #hst | 000 ~ 820 1.756 9.39 st 1.00 | .00 ~ 10.54 100.00 | #nLs | .00 ~ 1170 1.76 9.39
P 100kN/mZ#825 | 1.00| 000 ~ 047 107.03 |3m&Bz3B| — ~ — — — | 100kN/mi%#825 | .00 | 1060 ~ 11.90| 107.03 |3mE#Z5% - ~ — — —
zhLst 1.00 | 047 ~ 826 100.00 | #hst | 0.00 ~ 826| 1.82 9.76 znLst 1.00 | .00 ~ 1060 100.00 | #ndst | 65,00 ~ 1190 1.82 9.76
100kN/ M#%#8 2 % ~ 3ImERBAD ~ 100kN/ m#%#8% % ~ ImEHBAD ~
zhLst ~ ZnLsn ~ ZnLst ~ ZNLs ~
100kN/ MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Thsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M#Z#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnList ~ TnLlst ~ ZnLst ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBZD ~
Thsn ~ ZhLst ~ ZznLst ~ ZhLs ~
100kN/mMZ#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 . ImEBAD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnList ~ TnLlst ~ TNt ~
100kN/M%#2 2 % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBAD ~
Thsn ~ ZhLst ~ ZnLst ~ Zhus ~
100kN/ MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnLlst ~ ZnLst ~ LS ~




